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The figures in the margin indicate full marks
Jor the questions

Answer Question No. 1 which is compulsory
and any four from the rest

1. Write briefly on the following : 2x6=12
(a) Epistatis and dominance

(b) Karyotype

“ (c) C-value paradox
(d) Telomeres
{e) Chromatin
() GERL
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2. (a) Differentiate between peripheral 8. (@ O—

—
membrane - gng integral membrane ;

proteins, ' 4 E ?)
b)) Discuss the aberration observed in

Down’s ' ' gind, " an D ﬁ_lj

Syndrome and  Turner’s

syndrome, 7 5% o

3. How can Mutationg be detected in The pedigree shown above reﬂects. the
autosomes g, -Chromosomes  of inheritance of a rare genetic condition
Drosophitap llustrate g4y, suitable in one family. What is the most likely
diagrams. 11 mode of inheritance? Explain, 7

4. @ DiSﬁnguiSh between test cross and (b) Differentiate between inhibitory and A

back cross w; Suitable examples. 5 pleiotropic genes.

|

(b) Describe Mendey’s laws of g

LX) . * *
citing suitapje illustrations. ’

gregation

5. Define c:_.all Cycle. Explain the role of cdk
and cyclins in Mitosis a¢ own in yeast
and mammajg, ' 2+9=11

6. What is cytoplasmic inheritancep Describe
the process of conversion of g sensitive to |
killer strain of Paramecium 2+9=11

!
{
|

7. What is Crossing-overp

2+2+7=11 |
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